QUANTITY PART DESCRIPTION

Boftom plate (3mm Matte CF)

“Roll bar” plate (1.5mm Matte CF)

Front arm brace (2.5mm Matte CF)

Front standoff - 19mm (Black 3D Printed Plastic)
Rear standoff - 19mm (Black 3D Printed Plastic)
Washer (M2.5 Steel)

Nylock nut (M2.5 Steel)

Socket head screw (M2.5 Silver Aluminum)
Antenna tube (Black Plastic)

M2 washer (Steel)

N N NN —= — — N —

o~

Phillips head screw (#1 x 1/4" Long Steel)
Phillips head (#2 x 1/4” Long Steel)

Socket head screw (M2 X 4mm Steel)

o N M

Socket head screw (M2 X 8mm Steel)
12 Socket head screw (M2 X 6mm Steel)

] Standard Velcro Lipo Strap — Catalyst Machineworks (20mm wide x 220mm long)
1 Even Bigger Ego



